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04 R~ 236, 000 236, 000 45, 000 78, 244 99, 701
- 144, 701
01 7R - - - 1,800 1, 800
- 1,800
01 47 - - - 1, 800 1,800
- 1,800
02 i AHF T 236, 000 236, 000 45, 000 76, 444 97,901
- 142, 901
04 TR 1, 000 1,000 - 84 141
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13 BH RER YR 235, 000 235, 000 45, 000 76, 360 97, 760
- 142, 760
06 P4 A e 251, 000 251, 000 - - 4,000
- 4, 000
01 MAE L 146, 000 146, 000 - - -
01 A e~ 20, 000 20, 000 - - -
03 #1l & 126, 000 126, 000 - - -
05 BEFTLR 105, 000 105, 000 - - 4,000
- 4,000
01 BEFTLR 105, 000 105, 000 - - 4,000
- 4,000
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- 224, 250
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- 224, 250
02 34 A s g 449, 000 449, 000 225, 000 - =750
- 224, 250
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- 372, 951
&3t 936, 000 936, 000 270, 000 78, 244 102, 951
- 372, 951
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